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Hu: AlQl ALZA B4
Cel: XGAlel SEALS (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
UZHAAS 188,068 199,023 10,955
| 78,410
T 15,808
Al 93,850
101 2124d| 36,743 35,582 1,161
| 17,977
T 3,594
Al 15,172
03 SR (2IIAH 25 36,743 35,582 1,161
OGAEHAANSY 32,533
=Jlgs 2,028,000 x1Z+12& 24,336
| 12,168
T 2,433
Al 9,735
—NZEBXH| 145,000& x 19+ 12 1,740
| 8%
T 179
Al 665
Pl E = 120,000& 19+ 12 1,440
J| 720
T 144
Al 576
—lEgse 40,0003 x1Z* 123 480
| 240
T 48
Al 192
—&32sE 1,114,000& 1,114
| 557
T 111
Al 446
— AR 3,423,000& 3,423
| 1,711
T 342
Al 1,370
OFAHZA| 140,000 18 » 12& 1,680
J| 420
T 84
Al 1,176
OYEFIHI 2,434,000& 2,434
| 1,217
& 243
Al 974
O zgesy 96,000& %
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OgYSHANYE SE=S MH 1,000
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OZLSAHAMNY 4225 FE
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== 56
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OgL 2L S2A L=
40,000 x2H*13] 80
Jl 40
== 8
Al 32
OSLEHAANY S22 S|
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Il 120
S 24
Al %
202 04l 3,840 3,840 0
J| 960
< 192
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01 =LHO LI 3,840 3,840 0
OSLSAHLAE(S2RH) S0
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Al 2,352
O AEALAL (SRA) LS
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S 24
Al 336
301 LENZ 1,740 1,740 0
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X XH -
o e

=aak

- SHRABA) - HRAY - BES

Ofl &F2H

H
ol &y

H

Al

11,260
72,944

131,237,000

7,00024+98& * 12
1,100 363

H

Al

139,869
131,237
55,665
11,260
64,312

8,232
400

152,357

H

Al

22,457
3,000
600
18,857

N4, T16

3,807

1,000 x2Z+3000H

200,000

150,000 #32

2,557,000

800

600

200
450

450
2,557
2,557

H

Al

18,650
3,000
600
15,050

0

MERA(0IAT 2 14E)

50,0002 «155+33!

(XI& 2 158)

50,0002 »165+32]

S
4,000&%25+1,000&

600,000& *10=2]

in

Al

12,650

2,250

2,400

8,000
3,000

600
4,400
6,000

6,000

H

1,777,588
2,000
733,137

1,602,385

175,203
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M AN T4
ol At TAEE 2F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 34,240
Al 34,240
202 04l 340 350 A10
Jl 170
Al 170
01 =LHAHI 340 350 A10
OXN At AZ AL F=E04H|
340,000 340
Jl 170
Al 170
301 2= 160 150 10
7l 80
Al 80
11 dALEEIXIE S 160 150 10
OXNSAR AZ AL 253 AT SAH]
8,000 x4 53] 160
Jl 80
Al 80
307 @120l & 67,980 67,980 0
Il 33,990
Al 33,990
05 eit?(& = 67,980 67,980 0
OXISALS] AL A 67,980,000 67,980
7l 33,990
Al 33,990
uAy s8 816,650 775,270 41,380
= 2,000
Jl 383,760
= 118,427
Al 312,463
IZEAUALSXHE 2 51,100 65,400 14,300
Il 25,550
= 7,665
Al 17,885
101 @124H| 7,200 12,000 24,800
Jl 3,600
== 1,080
Al 2,520
M ORINZZE2NSE S 7,200 12,000 24,800
OZAABFAHE N2 =&
600,000 «1H*12& 7,200
) 3,600
< 1,080
Al 2,520
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Jl 17,950
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Al 12,565
01 At22telt] 35,900 24,100 11,800
OZUAL=AHE 2= 7Y
7,220,000 7,220
Il 3,610
== 1,083
Al 2,527
O=AEX 7Y 3,000,000& 3,000
Il 1,500
== 450
Al 1,050
OEEXA JUIE 28 2
30036004 180
Jl 0
== 27
Al 63
Ol =2Hig 208 24 J|IE #Y
25,500,000& 25,500
Jl 12,750
[ 3,825
Al 8,925
405 AHaHE S 8,000 0 8,000
Jl 4,000
[ 1,200
Al 2,800
01 TR ESFSHI 8,000 0 8,000
Od4ldd T2 )dal & T2 ME 1Y
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== 900
Al 2,100
OF2Hg T2 J8a TV 7
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Jl 1,000
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Al 700
JAALSINHE AEH=S 380,321 369,900 10,421
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[ 56,010
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| 160,490
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22 A2 284,979 276,720

284,979
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| 101,640

= 30,492

Al 71,148
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| 6,090

= 1,827
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40,0003 +*7Z* 123 3,360

| 1,680
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Al 1,176

600,000& =123 7,200

| 3,600

& 1,080

Al 2,520

28224 20,271,000& 20,271

| 10,136

& 3,040

Al 7,095

6,000,000& 6,000

| 3,000

& 900

Al 2,100

600,000& 600

| 300

= 0

Al 210

e 140,000& *7F + 122 11,760

| 5,880

& 1,764

Al 4,116

2,420,000& *7 B *120% 20,328

| 10,164

& 3,049

Al 7,115

2t sE=+ 42,912

= S&A Xl elz4d| 42,912
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T 3,947
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| 1,316
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Al 921
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| 1,920
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—Sa294y 50,0002 1% 122 600
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& Q0
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—88a 334,300& <128 4,012
—=&0l 180,000& x1H 123 2,160
| 1,080
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Al 756
— At 2el s get=
150,000 x1H» 1 *13] 150
| 75
= 23
Al 52
—Atdfl2el8 M= 40,000 40
| 20
= 6
Al 14
—W=0H| 40,000 40
| 20
= 6
Al 14
—SEHAAVSIAIY JI2HH FLDS
=] 40,000& 40
| 2
= 6
Al 14
—SEHUALSTAIY J12HHl ARRS
Fit=¢ 90,000 2 180
| 0
T 27
Al 63
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< 2,016
Al 4,704
OFABAANY BRE ALYLH(OI22L)
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) 5,880
S 1,764
Al 4,116
OFABAAY BLX NBUYLH(OIZE
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01 22X TS| 4,000 4,000 0
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= 2,000
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Aatolet & HaALSa 45,810 45,810 0
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Al 22,722
201 2= 7,360 5,710 1,650
Jl 3,185
= 956
Al 3,219
01 AtR2tc|HI 7,360 5,710 1,650
OFMEA s M 60,0002 «70H 420
Il 210
& 63
Al 147
OF2MeLz20y 29HI(01=,30 8)
102,000 *402] 4,080
Jl 2,040
= 612
Al 1,428
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mH: AACA XA
ol Jadd Sa (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 175
OTAtolg 222N SASY
150,000 #72] 1,050
Jl 525
= 157
Al 368
OFAFAYSTZIHSY AR
100,000& * 102 1,000
Jl 500
=S 150
Al 350
307 212+01& 9,300 9,300
01 22X 2| 9,100 9,100
OFARNO 25AE 7
5,600,000 5,600
OdAABHN & X2
3,500,000 3,500
06 28= 200 200 0
ONAAHDY EAT A2
200,000& 200
JIZZAALEXNEEH KA MEAIY K& 90,119 70,978 19,141
Il 36,095
== 10,829
Al 43,195
101 e124d| 90,119 70,978 19,141
Jl 36,095
= 10,829
Al 43,195
04 JIZtN2Z2 XS 90,119 70,978 19,141
OXFAMIZAIY e124b| 90,119
—JlEs 2,464,160 «2E«12& 59,140
Il 27,725
= 8,318
Al 23,097
—SEFOHI 2,464, 1603 x2E *120% 5,914
Jl 2,957
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Al 2,069
—IE=g 4,200,000 4,200
7l 2,100
= 630
Al 1,470
—S+222E 1,200,000& 1,200
Jl 600
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& 648
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—Atdl2elE get= 150,000 x2Z 300
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& 45
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—Atdl2elE A= 40,0002 x2H 80
| 40
& 12
Al 28
—wW=0{d| 280,000 280
J| 140
& 42
Al 98
—XHAHOI AN D12HM IS =]
40,0003 x2H 80
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& 12
Al 28
—KHAHOI ALY DI2EHl Xt mEY
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| 183
= 5
Al 129
—KHAHGI AL DI2EH EI R =
2,900,000 *2H 5,800
SEHEAMAHALSEALE 222,000 210,182 11,818
| 111,000
= 33,300
Al 77,700
101 2124l 12,000 12,000 0
| 6,000
& 1,800
Al 4,200
M I1RINZ2Z2XsEs 12,000 12,000 0
O 0= AlIKIAMEIA =X 2124H|
250,000 x 1% %483 12,000
| 6,000
& 1,800
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OXIIFAE DT L E2NE 72
2,000,000 2,000
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OSUlol DH2012 2/3)|2 BeX &8
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Jl 1,000
=S 300
Al 700




od
i’
oF
uJ

-

3,830

no
KIo
E
B
5
~

LH3r
<
KIS

mmwm 888 8 8 Y 3B EIEBES 33833 3LS8 S 88 2 2I3IDBS S 38 f

TN Bm S S®N X eHD®O HEOEHONNB TS - © & N oD ® S S eN

— [SVEE 0 oV ® © — < = ™ — — o — —
ol
<
b=

LS LS =W =< =M= == SRS SRS ~ W =< LS

<4 i 80 | oW i oW ol o ol

5 5 € 5 m 5 ) s s .

& S — =0 < [ = [0 3 S [
o | @ g 2 g 58 3 < s S s 3
g | 8 : g Y s 0 5 " 5
: S mﬂ& H = o %m

oy 30 ) o

M i <0 G = £3 o
I |= ol < o ol
U ] 5 R0 o1 00 b
X & Ol o - oF i
o [a) 040 o
= |w 0 = = =
= <) E= ok 000 =)
8 | i : o o = 5 I
o = > _ 3 = & o I ay
I L o 0 =) 5 i D = <F 3
o s oF A0 </ 80 5 = RO A0 ) </
= |2 5 G R0 5 o = oy oy = RO
H H MH <l Klo B0 Mo o 0 < < B ol
RO |m m 0 Ko ot A = R0 R0 H ok
W O O O O N O O O O O O
IF




od
i’
oF
uJ

S S S
(@} 0] (aV]
- > o o
Ko <
E
F=)
S 3 S
S 9, 2,
H : : ’
ol
LikEd
RIS
REE 88888 82388 38K 3 Y8 S388g38 8889 %M%m S8LY 88
0w — ™ O O M M~ O O O N O™~ O © N|T © O N W < N O ANl © — @ — — o I —
N © X - d|lN B d S| = - -
al
d
b=
~ W< ~ W= ~WH = ~ W< ~ W= ~WH = ~ W= ~ W= =M<
o ol ol o ol ol ol
S Q S S Y & <
S o - - B0 B0 B0
£ i : 1 R S
= o oF)
R o : < 5 & - 55 0E
a1 S =1 o < n ™
m._ﬂ Eﬂwm B0 1 = = = =
o oH i 4 4 o 4
= o =0 bl G G Gy G
= 2 N = i oy oy oy
=Y o H ol E o o o
ol Al D Kir o) o) o)
= A0 0 m = . L L
oF wJ il o oD oD L
o 3 = o R Ko Ko i i i
) 70 B0 N0 pd o < <J n0 N0 n0
= K o0 ™ A RO R0 Y i i
R 30 DS = 5 = ~D ~ 3 ] ]
RO <k 70 RO ol B0 Kz K R0 R0 R0
. O xn O — — O O O O O
x - ° _
1




od
i’
oF
uJ

S S e S
O Al Al
nd
Klo
&
D
3 8 8 e
N S S
te} < <
4y
<)
RIS
SBLE 88883 838883 8888 BEEEE 8323888 LI8 8283888 S 8
o — — QO < — A O O M M S O O < M~ oo — © O N LN — © IO SO O O T N —
w - — <& < o @~ = S d Sl o =
al
<
=3
=~ W= =M< =< ~ W< ~ W< ~ W= ~ W= =~ W= ~
30 S 8 [ o} 0 0 0
S < = ¥ e Si S g
T S 8 < od o X o
D._ﬁ % I5) =y m KM oE
= ] 8 5! g
X0 — m o % Q - ° m -
B = < W 5= S ok 9 __dm5
. = = 0 < - — I
a | m 8 3 3 v __Hoo
= | = 5 oS ()
o B I 0 = o W M -
o |z > = MH E = R
z |9 0 = A - = o I
NE g g @ g . A g
—~ - Qno =
= |u ™ M Ay I = A0 B
i Ll H| H - ] ) i <
= |w a0 a0 RO oF - _ o
mrm iol iol iol o ﬂ B > T o
i) . . . . i by
) n0 n0 n0 <0 n0 n0 nd o ~O
= &l Y Y o 00 Y A ) gk of Y
i <J <J <J o M <J <J oV W o wo<
¥ = S = 3
Ik




FA ABSL
B AACA X4
ol Jadd Sa (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30
Al 70
405 AtatE = 20,000 7,000 13,000
Il 10,000
< 3,000
Al 7,000
01 AL =S F = 20,000 7,000 13,000
Oag 9 Z2IO3A A2IIT 7Y
20,000,000& 20,000
Jl 10,000
[ 3,000
Al 7,000
JHEES Dot wd3xE =4l X 9,000 9,000 0
= 2,700
Al 6,300
307 el2to| & 9,000 9,000 0
S 2,700
Al 6,300
01 22 +=H] 9,000 9,000 0
OJHE =3 Itk WEXIE 2/=8l X
9,000,000& 9,000
& 2,700
Al 6,300
OlsEaE FAUAISTAIE 14,300 0 14,300
Jl 6,650
< 1,995
Al 5,655
201 =3 7,300 0 7,300
Jl 3,650
=S 1,095
Al 2,55
01 AtR2te|Hl 1,300 0 1,300
O0tsdAE 2F23 T2 23|
1,000,000 1,000
2l 500
=S 150
Al 350
O0tsE~E oA 228 7Y
300,000 300
Jl 150
s 45
Al 105
03 A2 I 6,000 0 6.000




FA ALSH
Ha: AU T
ol Jadd Sa (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
OOISEAYE HaY gadn
3,000,000 *23 6,000
Jl 3,000
S 900
Al 2,100
301 EtE NS 3,100 3,100
Jl 1,550
S 465
Al 1,085
11 dALEEIXIRE S 2,800 2,800
Oots&E24 gl ASSALA 2SHI
20,0002 x7&*203] 2,800
Jl 1,400
S 420
Al 980
B2 d= 300 300
OOISZAE 2AHIE T2 LA
300,000 300
Jl 150
& 45
Al 105
307 elzto| & 3,900 3,900
Jl 1,450
S 435
Al 2,015
01 22X TS| 3,900 3,900
OotsE24 gl oefE Y
2,900,000 2,900
Jl 1,450
S 435
Al 1,015
OotsE24 gl &ZHl K&
1,000,000 1,000
HE d=MBIL WIS 858,079 723,636 134,443
Jl 315,137
= 235,738
Al 307,204
=Jtgae| 291,041 173,133 117,908
Jl 142,199
& 42,660
Al 106,182
201 Zet=d] 4,446 0
Il 1,503
== 451




od
i’
oF
uJ

el
=)

|2 MH1A H

r
S
]

Al
—
Al
=

© o |efe e 2 2 S 8 2 3 3
> 2 < i) il Rl Ry
2 = - s |8 |8 < f
KIo
E
E=)
(el Nep) © <o} ©
3 g |88 S 2 2 > > > o o
® A e} 28 § s 8 2 2
LH3r
<
RIS
Ql ™D — ol [aN] Al A N~ (a0} ™D ™
218 8888 SEE558 34K EB8L5983858 388338333 C|88EIER
ol Al e ReY8grevEgseEselErees|es
3
<
S
= ELEES SRS SRS H = H =< H =< ~ = ~
| 0 o ® W | | |
8 x S S o S S8 8
S o 0 S X S S S
or B & s 2| g8 @ Z 3 $
F) RS s ¢z o B ol = =
B al S y a0 N N
. F G| A
ol Ho = m = P o
v —_ -~ ) =
< O o 7 90 = =
F o X 4o = Ki
=t = oF N wur H
< o R E= A o A
~ Ho o o S a n i Mo i
= il o of ]lO= o R o =
ol ™ . ) (=] _ 20 o no o0 _
= 00 ol oF o w0 n g |® ol T 5 @ i)
= N 5 O = = wr o + 2z 5 =
oF — =@ = _ = 31 0 e g o = o 3 =
o) m) k{0 nJ o 2 _ i< ™ :|_o S o ._Ar_\ Sl T :|_o
. o Al Al m o 5 K Rz o |&® W = 5 il RO N =
= % L Gl mm mm ) pw o ||z MD_ ] 7 mm U iy iy = =4 a)
=0 K ~ Ws|s 0N @ d = ~ 0 a7 o) o B ﬁ R
K < o0 M fo o0 |s | & M |on|® 0 | Mo o0 - ol =< ol 1l =
% = S TIR|® 8| = - i) 3 = v 8
I+ 30 o1




SH: BB
mH: AACA XA
Rl FAYAHS AZMBIA MBS EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 3,700
11 BI2SHEHE A ELAE AL 18,493 19,134 B4
OoI24+2AN LYABFC FIet3
18,493,000& 18,493
| 14,793
Al 3,700
S|HAEA ol=H| K& 316,790 294,144 22,646
| 158,145
= 47,445
Al 111,200
201 B2 AL| 500 500
01 ArR22ltl 500 500
O3HEEX 2zl NME 2223 M
= 5,000& * 1004 500
308 AXIHMSOI & 316,290 293,644 22,646
J| 158,145
= 47,445
Al 110,700
11 31 2SO E &R S AL 316,290 293,644 22,646
Os|H&E & o =Hl XA
316,290,000& 316,290
| 158,145
= 47,445
Al 110,700
FHUHNE AZEE SI=HIKIA 14,309 14,309 0
& 4,293
Al 10,016
201 2| 2,340 2,340 0
& 702
Al 1,638
01 At 22|l 2,340 2,340 0
OBE,CE 2tg ol L c2l&23!, il A&
550,000& 550
& 165
Al 385
OBY,CE 2t tle E2=F MZ
1,790,000& 1,790
& 537
Al 1,253
307 gI2Hol 11,969 11,969 0
= 3,591
Al 8,378
01 =¥ 37=H| 11,969 11,969 0




SH: BB
M AN T4
S FHAHNS A= MBIA HS o &)
SA - ZB . 9(B) - NIRAD - BaS ol b A 2
OB (& 2t ARE P
11,969,000 11,969
& 3,591
Al 8,378
XIOHOfl 22l 1,161,709 1,124,672 37,037
| 579,569
& 126,300
Al 455,840
XHESEAMEIA HB 1,161,709 1,124,672 37,037
| 579,569
& 126,300
Al 455,840
XIOHetaldye 29 875,165 852,970 22,195
| 577,780
Al 297,385
101 21244l 391,552 377,032 14,520
| 310,624
Al 80,928
03 SR (RIAHL) 22X B4 371,816 357,2%6 14,520
OXIOH QA HIE 371,816
=Jl23 2,000,000&*11H 12 264,000
| 211,200
Al 52,800
—ATZEAH| 145,000 x11Z 123 19,140
| 15,312
Al 3,828
—IEY 240,000 x3E* 123 8,640
| 6,912
Al 1,728
—EY 40,0002 119+ 123 5,280
J| 4,224
Al 1,056
—JAUSAH| 140,000 x11Z 123 18,480
| 14,784
Al 3,696
—&2sY 290,000 x11H*23] 6,380
| 5,104
Al 1,276
—AlI2te|=E 178,000 x11H 123 23,4%
| 18,797
Al 4,699
—HEIOHI 2,000, 0002 *11H*120% 26,400
| 21,120




2A:

HIE=X

Coouw

&

HEH: XI0Hof e 2te
o2 XISEMEIA HS (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 5,280
M IIRHMZ2Z2XSE+ 19,736 19,736 0
OXIHQIAIMIE] BRI 2T
1,372,000&x1Z*12& 16,464
| 13,171
Al 3,293
OMSISTIOIME TA4 HE L (F0IF
A 3,272,000& 3,272
201 et | 208,930 201,804 7,126
| 102,090
Al 106,840
01 ArR2eltl 113,212 111,606 1,606
OXIetHH 28 S22 M
3,000&*1,00001*2& 6,000
| 4,800
Al 1,200
OXIHXIGEoAM 22 N2
100,000 x5 23] 1,000
J| 800
Al 200
OUHSIESI|AME (HIwLIHAH AFE LS
2,500,000& 2,500
| 2,000
Al 500
OXIStAHH 28 225 7
30,0002 *20F*43| x20H A 4,800
J| 3,840
Al 960
OXIHEEHH & S0 M=
60,0002 x55+62] 1,800
| 1,440
Al 360
OZZ2Y g E=Z208 2SI M2
10,0003 *4E+1000H 2 x 102 40,000
| 32,000
Al 8,000
OXIi&H T2 24 M=l
20,0002 *305+402! 24,000
| 19,200
Al 4,800
OXIOHEHAF QIXIHMIE HIH
20,0002 *300L 6,000
| 4,800
Al 1,200
OXIOHRtAHIE StHE2ZE M+
50,000&* 152! 750




2A:

HIE=X

Coouw

&

M X|0Hoj e
el MIWSBMHIA MR (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
J| 600
Al 150
OXIOHHAIHIE AIREE 22|
446 ,000& 445
J| 357
Al 89
O=AIEX F¢ 920,000& 920
J| 736
Al 184
OXIoeralnE s8I+ HNEsE A
50,0002 x5+ 10K 2,500
J| 2,000
Al 500
O&FSD| & Z2I8F)| A=
250,000 x201 A+ 122 6,000
J| 4,800
Al 1,200
OXI0Het k22| E X iz
1,200,000& x 128 14,400
J| 11,520
Al 2,880
OXIOHetHAIME SR2E S|
8,000& x 11122 1,056
J| 845
Al 211
OXIDHCHAIMIE S22 TI=H|
40,000& *11¥8 13| 440
J| 352
Al 83
OXIOfetAIME SRA MNRU=H|
100,000 6% 600
J| 480
Al 120
02 S32ZH| 89,718 84,198 5,520
OXIDfHAIHIE 29 85,518
—XIOHOI 2 AIE O RERZ2
4502 +2,000H 900
—XIOHE=Q! HiSIZH XD S4d] XI&
2,000& 100"~ 12& 2,400
—XIOHCHAIMIE] MOIR2
500,000 x20) A+ 122 12,000
— Aot E 23 50,0002 x2) A% 12& 1,200
—2O0IHHIAIAE 229H]|
150,000& x20H A% 12 3,600
—&HAAE AR S=4AH|
1,250,000 x20H 2~ 2,500




2A:

HIE=X

Coouw

&

ZM: XIoHol el
=Rl XHSEAMEIA KIS (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&dJ| RAl2el Y
200,000 * 122 2,400
-5 HI4NsRs 4,000 122 48
—&2| AHEY 242 150,002 150
— QI EAQD
30,0003 *200 A+ 123 720
—&Jjetd e SAH(HESIAEH)
100,000& * 12 1,200
—uistE J|QME AMITIY XIIEER
200,000 * 128 2,400
Jl 1,920
Al 480
—EAEHH| 25,000,000 24 2~ 50,000
—wsts J|oME ~222 BTFY
6,000,000& 6,000
) 4,800
Al 1,200
OXINEE Xt A=
350,000 * 122 4,200
03 Ar=EHI 6,000 6,000 0
OXIH==¢et0te AL 28|
6,000,000 *14] 6,000
) 4,800
Al 1,200
202 04| 25,920 25,920 0
Jl 19,296
Al 6,624
01 =LHO LI 25,920 25,920 0
OXHE =N 2HEE O
20,0003 x38 50 3,000
Il 2,400
Al 600
O F=N 22EH 0
1,800,000 1,800
OXIHH L 22T (SRH)
20,0002 x82Lx11E~12& 21,120
Jl 16,8%
Al 4,224
301 EtE N = 125,693 132,704 AT7,01
Jl 98,090
Al 27,603
11 #AIAMHIXIZ S 24,493 31,504 AT7,011
OXIMfF2012 2t53] Z4X 4|
269,000 269
Il 215
Al 54




2A:

HIE=X

Coouw

&

ZM: XIoHol el
=Rl XHSEAMEIA KIS (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIHHZ XN =AF 2te2] EA AL AlH
8,000 342 +23] 544
Jl 435
Al 109
OXHEH 28 FAX 2HAl]
3,000&3+308 202 1,800
OXIHS LS LIS0l EIHAL AlH|
8,0002 80 +23] 1,280
ORIt el =S8S &N
20,0002 10 +82|« 12 19,200
) 15,360
Al 3,840
OXIiss=22 &34l XA
200,000 x1H+7& 1,400
Jl 1,120
Al 280
14 DBt 2 a=S 101,200 101,200 0
OXIHHZ X =4+ 2SH|
30,0002 %1007 A+303] 90,000
Jl 72,000
Al 18,000
OXIOHEXHOE)XE 208 2AsE
100,000& x2& =22 400
Jl 320
Al 80
OINSNAE T2 SEsc
0,000 x6& *602| 10,800
Jl 8,640
Al 2,160
WM HsEE=S 39,600 36,640 3,960
7l 31,680
Al 7,920
4 R (RIHA)22N BEERES S 39,600 7,920 31,680
OXIBfetadlE SR8 ISMHEER
9,240,000& 9,240
Jl 7,392
Al 1,848
OXIBHetHIE SRA ZLASOI2RE)
15,840,000& 15,840
Jl 12,672
Al 3,168
ORI HIE SRA ALEHOI2ARE)
14,520,000& 14,520
Jl 11,616
Al 2,904
307 @120l & 83,470 77,870 5,600




2A:

X XH -
o=

HIE=X

Coouw

XIOHO 22

&

o2 XISEMEIA HS (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 16,000
Al 67,470
01 9= 7=H| 82,000 76,400 5,600
OXIoHolZ2eAmEE AZ 7Y
20,0002 *1,000 20,000
OXIHtt2elAtEE A28 7Y
2,000 *2,00001*x2& 8,000
OXIHetkt 25=2Z20IHFA 8)7Y
5,000& *2,0000H 10,000
OXIHEYHE HIEXE
80,0003 x250 20,000
| 16,000
Al 4,000
OXINELAZR HISXA(Z/ALS 120%% 1)
80,0002 100 8,000
OXIOH=Q! BHaIZXID| XI&
160,000 100X 16,000
06 22 1,470 1,470 0
OXIHERH(OF)LIS0! GEX B8 =
750,000 750
OXIOHeta 22| Al AoHEE =2
720,000 720
XI0H X = 22|81 K& A 284,308 269,034 15,274
& 126,300
Al 158,008
307 212+01 A 90,000 90,000
01 2 2¥ 7=l 90,000 90,000
OXIOHEHRE Ml X2 (BSAAS 120%=1)
30,000 =250 * 123 90,000
308 AXISHMSO0IA 194,308 179,034 15,274
= 126,300
Al 68,008
1 SI2ASUHHEHE AR LE AL 194,308 179,034 15,274
OXIOHXI 2218l XI& 194,308,000& 194,308
= 126,300
Al 68,008
XHSS=AAY 2,236 2,668 A43?
J| 1,789
Al 447
201 L2 | 77 7 0
| 62
Al 15
01 At 22|l 77 7 0
OXIE3=A AerExtlE XA
77,000 7




SH: AYBD
HEH: XI0Hof e 2te
ool XINSEAEIA MR (crol: m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
J| 62
Al 15
301 LPENZ 2,159 2,591 AN432
J| 1,727
Al 432
11 HALAHIXI A2 2,159 2,591 A4
OSSX:e =AH0 e=H|
2,159,000 2,159
| 1,727
Al 432




